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HSSC Clerk, 11 Dec 2016, Morning

Which is the oldest High Court of
India ?

(A) Allahabad High Court
(B) Bembay High Court
(C) Calcutta High Court
(D) Madras High Court

%2»1"&33&22‘3‘!%17&23'&‘i‘:e'*‘y‘ééﬁ
2013 ?

(A) in'ig%u(r:ao,uxsanlpur & Meghalaya
(B) L?g%ugu :;kklm & Meghalaya
(C) zrolgrtl;a, Goa & Meghalaya High
(D) Tripura,

Sikkim &
Courts Goa High

Lakshadweep comes
jurisdiction of w
(A) Tripura
(B) Kerala
(C) Calcutta
(D) None of these

under

the
hich High Court ?

By whom the Comptroller and
Auditor General (CAG) of India is
appointed ?

(A) By a committee of selected
members of Lok Sabha & Rajya
Sabha

(B) By Chief Justice of India

(C) By President of India

(D) By Attorney General of India

In which state the Buddhist site Tabo
Monastery is located ?

(A) Arunachal Pradesh

(B) Himachal Pradesh

(C) Sikkim

(D) Uttarakhand

Why the colour of red soll Isred ?
(A) Due to presence of abundance
of magnesium
(8) Due to presence of accumulated
humus
(C) Due to presence of iron oxides

(D) Due to presence of abundance
of phosphates :
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10.

Whlcl! among the following has the
world's largest reserves of Uranium ?

(A) Australia (B) Canada
(C) India (D) China

On which one of the following rivers
the Tehri Hydropower Complex is

located ?
(B) Bhagirathi

A) Alaknanda
C) Dhauliganga (D) Mandakini

In which State denslr? of population
is the lowest according to Census
20117

(A) Meghalaya

B) Mizoram

C) Sikkim

D) Arunachal Pradesh

Name the crop in which Hary
chief producer.
(A) Rice
(8) Wheat
(C) Jute
(D) None of these
correct option of districts
f:::euc:ntcze(Area-wise small to large) of
Panipat, Sonlipat,

Haryana.
(A)W:urukshetra.
KurukShetra;

chkula
Pan sonipat,

(6) Pan::%aktﬁla
(C) l:’:zchkula, panipat, Kurukshetra,
sonipat
(D) None of these
i stricts of Haryana
fthe following S the - state

ana is the
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15.

16.

17.

Which of the following ornaments
used in the state of Haryana is not
worn around neck ?
(A) Hansla

(C) Galshree

(B) Phool
(D) Button

These States and/or Union Territory
have a common High Court :

(A) Delhiand Haryana

(B) Punjab, Haryana and Chandigarh
(C) Uttarakhand and Haryana

(D) Haryana and Uttar Pradesh

Pt. Neki Ram Sharma of Haryana had
started the magazine ‘Sandesh’ in
which of the following language ?

(A) Punjabi (B) Urdu

(C) Hindi (D) Gujarati

Which of the following is abolished by
Government of Haryana on Wheat ?

(A) Sales Tax (B) Excise Duty
(C) VAT (D) All of these

Where Chief Minister of Haryana
Manohar Lal Khattar on 3 June, 2016
laid foundation stone of Jai Jawan
Awas Yojana (JJAY) ?

(A) Rewari

(B) ‘Bahadurgarh

(C) Yamunanagar

(D) Chandigarh

In the Haryana State, which month is
the coldest month of the year In which
the lowest temperature may reach up
to the freezing point ?

(A) January

(B) December
(C) November

(D) March

Haryana Forest Development
Corporation (HFDC) established in

(A) December, 1989

(B) January, 1989

(C) March, 1989

(D) April, 1988

Lat of Feroz Shah Is situated in which
district of Haryana ?
(A) Fatehabad

(C) Hisar

(B) Gurgaon
(D) Karnal
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23,

26.

27.

In Haryana Government minister

Karan Dev Kamboj belongs to
constituency

(A) Shahbad (B) Indri

(C) Naraingarh (D) Bawal

Who was the first Advocate General of
Haryana?

(A) Baldev Raj Mahajan

(8) Shri Babu Swaroop

(C) Hawa Singh Hooda

(D) None of these

In which field Jan Nayak Ch. Devilal
Award is given ?

(A) For the maximum agricultural
production.

(B) For major contribution in

2 Haryanavi literature.

(C) For the Innovative development
in Information Technology.

(D) For major contribution in urban
development.

In which of the following place Honda
Motorcycles are manufactured ?

(A) Rewari (8) Karnal
(C) Manesar (D) Rohtak

Who Is the first woman in the country
to head Haryana's forest department,
appointed on 30" October, 2015 ?

(A) Harder Kaur

(B) Jasvinder Kaur

~(C) Madness Kaur

(D) Amarinder Kaur

in which division of Haryana most
districts are there ?

(A) Ambala (B) Hisar

(C) Gurgaon (D) Rohtak

Who is the author of the famous play
~Court Martial” ? A

(A) Vishnu Prabhakar

(8) swadesh Deepak

(C) Bhagwandas Morwal

(D) Gyan Prakash Vivek

23, gﬁmvnwmasﬁmtﬂﬁmﬂ

24,

26.

27,

< e P A= A& ?
(A) TTEAE (8)
(C) TG (D) am@d

o 3 s e HA 4 7
* (A) TG T HETAT

(8) #hamg T

(c) w1 fiE g

(D) T AP TE

Wmmmmmt

g R o & 7

() ftraerm B Seare & fg |

(8) ERam Wit ¥ WY@ I &
ferg 1

(€) g s ¥ = R &
faqi

(D) e R ¥ g AT & fa |

frer % % v = ¥ wioey
mmﬂmt? L
(A) B) TS

(€) AR 20)) e

30 B T8 TUH AR 2 & o)
TR ¥ i
DPmEy e 2015
(A) =R (8) wrwf
sRamn ¥

s T T ity
(A) 3mran (8)

9 Ik ) o

Gt e

g7 W’""ﬂ“%mm
(A) Ry

(8) R Sy

(€

(D) mmmmw

Namt

Mirth



30. Campaign to boycott, which country

31.

32.

33,

38,

products gains momentum in India
now-a-days ?
(A) Japan
(C) China

(B) USA.
(D) Switzerland

Which country won Kabbadi World
Cup 20167

(A) Iran
(C) India

(B) Iraq
(D) Argentina

Who is appointed as New RBI
Governer ?

(A) Urijit Patel

(B) Urjit Shah
(C) Raghu Rajan

(D) Upendra Shah

Who was contested against Hillary

Clinton for US Presidential election
20167

(A) Donald Trump (B) BIll Clinton
(C) George Bush (D) Edwin Trump

Who is the first Indian captain to hit

two ‘double century’ in the history of
Test Cricket ?

(A) Virat Kohli

(B) M.S. Dhoni

(C) Sachin Tendulkar
(D) Sunil Gavaskar

Who won the 2016 Nobel Prize in
literature ?

(A) Bob Dylan

(8) Bobby Deol
(C) A.R.Rehman

(D) David Trump

Who has recelved the APJ. Abdul
Kalam Award for the year 2016 for
Meritorious services in the Higher
Education Department of Tamil Nadu ?
(4) p. Shanmugam

(8) . Stinivasan
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37.

39.

41.

42,

43,

T T SEE R T I N

What is the name of the Video
Chatting application introduced for
Android and iOs users by Google ?
(A) Dos (B) Due

(C) Dub (D) Duo

Which bill is approved by the Union
Cabinet on August 24, 2016 to
prohibit including sale and purchase
of human embryo and gametes ?

(A) Child Protection Bill, 2016

(B) Pregnancy Assistance Bill, 2016
(C) water Regulation Bill, 2016

(D) Surrogacy (Regulation) Bl
2016

Prime Minister Shri Narendra Modi
was born in district

(A) Gandhinagar

(B) Mahesana
(C) Rajkot

(D) Bhavnagar

Choose the correct alternative,
Palaeography : Writings : : Ichthyology : ?

(A) Fishes (B) Whal_es

(C) Oysters (D) Mammals
Choose out the odd one.

(A) Verse (B) Rhyme

(C) Couplet (D) Rhetoric
Choose out the odd one.

(A) Tempest (B) Hurricane
(C) Cyclone (D) Monsoon

Choose the odd numeral pair/group
from the following :

(A) 12-144 (B) 13-156
(C) 15-180 (D) 16-176
Choose the odd one,

(A) HGF (B) Xwv

(€) NML (D) OPQ
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45.

46.

47.

49,

In the given letter series, some of
the letters are missing which are
given in that order as one of the
alternatives below it. Choose the
correct alternative.
___acca___ccca___acccc_ aaa
(A) acca (B) caaa

(C) ccaa (D) caac

In a certain code, RIPSLE is written as
613082 and WIFE is written as 4192,
how is PEWSLE written in that code ?

(A) 324082 (B) 698244
(C) 416326 (D) 356127

if the animals which can walk are
called swimmers, animals who crawl
are called flyer, those living in water
are called snakes and those which fly
in the sky are called hunters, then
what will a lizard be called ?

(A) Swimmers (B) Snakes

(C) Flyer (D) Hunters

In a certain code, ‘bir le nac’ means
‘green and tasty’; ‘plc nac hor
means ‘tomato Is green’ and ‘coc bir
hor’ means ‘food is tasty’. Which of
the following means ‘tomato Is
‘tasty’ In that code ?

(A) birle hor

(B) pic hor nac

(C} hor bir pic

(D) None of these

Introducing a man, a woman sald,
“His wife is the only daughter of my

father.” How Is that man related to
the woman ?

(A) Brother

(8) Father-in-law
€ Maternal uncle
®) Husband
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50.

51.

52.

53,

ssl

4

Nine men went to hotel. 8 of them
spent T 3 each over their meals and
the ninth spent ¥ 2 more than the
average expenditure of the eight.
The total money spent by all of them
was

(A) 31
(C) T27

(B) T40
(D) T29

Evaluate : /248 + /64
(A) 14 (8) 26

In a college, the ratio of number of
boys to girls is 8 : S. If there are 200
girls, the total number of students in
the college is
(A) 420
(C) 620

(B) 520
(D) 720

The ratio between the present ages
of Pand Qls 6 : 7. If Qs 4 years old
than P, what will be the ratio of the

ages of P and Q after 4 years ?
(A) 7:8 (8) 7:9
(C) 3:8 (D) 5:8

A Is twice as good workman as B and
together they finish a piece of work
in 18 days. In how many days will B

alone finish the work ?
(A) 27 days (B) 54 days
(C) 56days (D) 68 days

A car moves at 80 km/hr. What Is the
speed of the car In metre per

second ? )
(A) 20-;-m/sec (8) 22-5 m/sec

2
(C) 24-;-m/sec (D) 26; m/sec
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56.

57.

58.

58.

61.

62.

Which is in ascending order ?
(A) 3/2,9/11,7/9,8/9
(B) 7/9,9/11, 8/9, 3/2
(C) 9/11,8/9,3/2,7/9
(D) 7/9,3/2,9/11,8/9

Find the value of X,

3889 + 12.952 - X = 3854.002.
(A) 47.95 (B) 44.95
(C) 43.95 (D) 40.95

The number of girls In a class are 7
times the number of boys, which

value can never be of the total
students ?

(A) 40
(C) 24

(B) 48
(D) 30

if Rahul rows 15 km upstream in 3
hours and 21 km downstream in 3

hours, then the speed of the stream
is

(A) S km/hr
(C) 2km/hr

(8) 4 km/hr
(D) 1km/hr

Electrochemical process which takes

place on anode
(A) Oxidation
(8) Reduction
(C) Corrosion
(D) Redox process

Which acid is found in Tomato ?
(A) Acetic acid (8) Formic acid
(C) Tartaricacid (D) Oxalic acid

Which chemical is used to disinfectant

of swimming-pool water ?
(A) Bromine

(8) Chloroform

(C) Chlorine

(D) Potassium permanganate
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(A) 3/2,9/11,7/9,8/9
(B) 7/9,9/11,8/9,3/2
(C) 9/11,8/9,3/2,7/9
(D) 7/9,3/2,9/11,8/9
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67.

What Is the name of the organelle in
which photosynthesis takes place ?

(A) Leucoplast

(8) Chloroplast

(C) Chromoplast

(D) None of these

Which is the largest artery in the
human body ?

(A) Phrenic artery

(B) Pulmonary artery
(C) Venacava
(D) Aorta

Which process is involved in dialysis
process ?

(A) Osmosis

(B) Reverse Osmosis

(C) Plasmolysis

(D) Haemolysis

Organelle which is involved In protein
synthesis

(A) Ribosomes (8) Nucleic acid
(C) Mitochondria (D) Chlorophyll
Voltmeter Is generally used to
measure potential difference between
two ends of the conductor electric
crcuit.  Voltmeter is  generally
connected in electric circuit

(A) Parallel

(B) Series

(C) Parallel and series

(D) May be parallel or series

The size of the image formed by plane

mirror Is

(A) equal to that of the object.

(B) smaller than that of the object.
(C) bigger than that of the object.
(D) slightly smaller than that of the

object.

Stars twinkle due to

(A) Reflection of light
(8) Dispersion of light
(C) Rarefaction of light
(D) Refraction of light
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ENGLISH LANGUAGE

In the following question, out of the
given alternatives, choose the one
which best expresses the meaning of
the given word.

CONDEMN

(A) Blame (B) Underrate
(C) Hate (D) Avoid

In the following question, choose the
word opposite in meaning to the
given word.

MAGNANIMOUS
(A) Selfish (8) Naive
(C) Generous (D) Small

In the following question, out of the
four alternatives, choose the one
which best conveys the meaning of
the phrase.

That which cannot be rectified or
made good

(A) Irreparable

(B) Irrevocable

{C) Irreconcilable

(D) Irreplaceable

Fill in the blank with appropriate
Preposition choosing one from the
four alternatives given below the
sentence :

Her reply was tantamount

refusal.

(A) In (8) to

(C) for (D) at
Choose the correctly spelt word.

(A) Fraudulent  (B) Fradulent
(C) Fraudulnet (D) Frauduletn
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91.

In which district of Andhra Pradesh,
the Kuchipudi village is located from
which the Kuchipudi dance name
derives ?

(A) Anantapur
(C) Kurnool

(B) Krishna
(D) Nellore

Which one of the following does not
belong to Kerala State ?

(A) Mohiniattam (B) Kathakali
(C) Kolattam (D) Thirayattam

Famous song ‘Sare Jahan Se Achha’
was composed by '

(A) Rabindranath Tagore

(B) Mohammad Igbal

(C) Manna Day

(D) Bankim Chandra Chatterjee

Which of the following places is
famous for the traditional art of
embroidery Chikankari work ?
(A) Ahmedabad (B) Hyderabad
(C) Lucknow (D) lJaipur

Kalchakra ceremony is assoclated
with which of the following religions ?
(A) Hinduism (B) Sikhism

(C) Jainism (D) Buddhism

Which of the following pairs are

correctly matched ?

1. Dalhousie - Abolition of Sati

2. Cornwallls = Permanent Land
Settlement

3. Wellesley - Subsidiary Alliance

4.  William Bentinck — Regulating Act

(A) 1and3 (B) 1,28&4

(€) 1,2&3 (D) 2and3

Who  published Poverty and
un-British Rule in India in 1901 ?

(A) Sir Surendranath Banerjee

(B) Bipin Chandra pal

(C) Allan Octavian Hume

(D) Dadabhaj Naoraji

Ajatashatry was the son of
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hiji wanted that the students 93. TiEl oY ¥ 5 Renf) -
o gtaonuc{d'ipgwd their vacations in JTFHTE ﬁama'ﬁm = ST
(A) Studies (A) seggs 3 :
(B) Games W" :
(C) Social service (g) ﬁ:'l 3
(D) Cultural events (C) T -
(D) wipfre soa) i
94. In collaboration with David Hare and
Justice Sir Edward Hyde, who of the 94. WMWWWWMt
following established Hindu College U ¥ P 3§ Rt o 8 g
at Calcutta ? e vy R o ?
(A) Raja Ram Mohan Roy A e
(B) Ishwar Chandra Vidyasagar (A) o N
(C) Keshab Chandra Sen (B) ¥vave: Remwrr
(D) Dadabhai Naoroji (C) Fvaa=s I
D) zremrE HRI
95. Gangtok Is the capital of (
A) Arunachal Pradesh 95. eI REwa T & 2
(g ﬁnci’zaoram (A) sFvmed wEw  (B) man
(D) Sikkim (C) P (D) fsfarem
96. Which Stat$ . il\as the hllghest 96. f&w v A ved &5 F TR Y M
percentage of below pove ine In '
urban sector ? i e s & 7
(A) Manipur (8) Bihar (A) wRmgR (8) fewr
(C) Chhattisgarh (D) Jharkhand (C) wiirrmg (D) ¥R@vs
97. When the MGNREGA scheme to 97. T X TR MGNREGA T T &
fight poverty was implemented by ' ,
the Centre ? W*f*ﬂ"‘“"l"”"’*?
(A) In the year 2005 (A) = 2005 b
(8) Inthe year 2006 (B) %2006
QC) In the year 2010 (C) 3d20107%
D) Inthe year 2015 (D) @d2015 3
98. Short-term finance Is usually for a 98. WG sref-wa=r Wy e s &
period ranging up to farerme 2
(A) 6 months (g) 94month; (A) 6T (B) 9WTE
(C) 12 months (D) 24 months (©) 127 (D) 24 TE
99. When was the Reserve Bank of India 99. W Rord §o5 A waraen 7w gk ?
:;}a!;'g;;d ? (8) 1635 (A) 1932 (B) 1935
(C) 1949 (D) 1947 (C) 1949 (D) 1947
100. When does the Rajya Sabha get 100. TN FT AT R AN & ? WQW’":
dissolved ? The correct answer is (A) @ W & wrfwe gof )
(A) After the Lok Sabha completes qYaTy |
its term. my
(B) After the Rajya Sabha completes (8) TR W ¥ wrfo@ T
its term. RELIG »
(C) After the Government at the (C) M TrY | ¥ wYEN 5 B
Centre dissolves for any reason. are |
(D) ;t: v? Sabha never dissolves (0) e o ke - — )
D
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